Monday Maths

bx4-=

46 - 27 =

34 - 2 =

Challenge!

21+

=39

45 + 28 =



Tuesday Maths
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Wednesday Maths
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Thursday Maths
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Friday Maths
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What if...

you chose a two-digit nember betwesn
20 and 9% to represent how many bolloons
you hod or balloons come in pockets of 1007

N ' v

Foss was having a birthday party and he

4 Foss was having a birthday = found ackets of 10 ball d
. Lewis spent 64p on balloons for his party. . e " S S
He only had 50p, 20p, 10p, ond lp coins. o

P-f'.lfﬂl': ::::: :u: some individual balloons in the drower.
. packets of I - How mony balloens did he find?
Heow could he hove poid §4p exociy? some individeal ballsons Ross’ Grandmother found another 4 pockets

Foud four ways. in the drawer. of 10 balloons and gives them to Ross.

‘ How many balloons has he
' . . How many balloons

Ross was having a birthdoy porty and he e " fri ]
found some packets of 10 bolloons and some : I::::::ml TT;:::—..'FH hdl:;n]:
individual balloons in the drmser. ! He soid thot he now hod &8 -
Ross’ Grondmother found another 4 pockets of Is ha corract? -
1@ balloons and gives themn fo Ross. i Explain how you know.
How many bollecns has he got atfogether? L

Make sure you count the
balloons around the bubble
to get your answer!




